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FIRST YEAR HIGHER SECONDARY MODEL EXAMINATION - 2021

Part — 111 Time : 2 Hours
COMPUTER APPLICATIONS Cool-off time : 20 Minutes
(COMMERCE)

Maximum : 60 Scores

(Hearing Impaired)

4 N

General Instructions to Candidates :
e There is a ‘Cool-off time’ of 20 minutes in addition to the writing time.
e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
e Read the instructions carefully.
e Calculations, figures and graphs should be shown in the answer sheet itself.
e Malayalam version of the questions is also provided.
e (Give equations wherever necessary.
e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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1. Questions from i to x carries 1 score each. Answer all questions.

(1)

(ii)

(iii)

(iv)

(v)

(vi)

Choose a primary memory device in computer :
(a) Hard disk (b) Pendrive
(c) RAM (d) DVD

Which one is the base or radix of binary number system ?

(ay 2 (b) 8

(c) 10 (d) 16

Which flow-chart symbol is used for input and output ?

(@) Rhombus (b) Parallelogram
(c) Rectangle (d) Circle

Pick a valid identifier from the following :

(a) abc-2 (b) break

(c) 2abc (d) abc2

(10 x 1 = 10)

Select a fundamental data type in C++ which is used for representing numbers

without fraction

(a) int (b) float

(c) char (d) wvoid

Initial value of variable ‘a’ is 2. Then find the new value of ‘a’ after executing the
statement a+=3

(a) 4 (b) 5

(c) 6 d 7

(vii) Which of the following is a looping statement ?
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(a) if (b) switch..case
(c) do..while (d) if...else



L. (i) ;y®@8 (X) 21600 Ga1033mBUdER 1 capId all®o. af)ld Ga10336BUBGN)o

DOMMOo af) K}, 10x1=10)
(1)  ®auRsolee! B30) (1NAlE: HRAMMO] Dald:06Mo WIHOEEITINS)HN ) :

(@)  a0odW wlmy (b) a1 @6 E@LAT

(c) 0% (d) adlafla

(i)  e@emImdl Mm@ AFLETNHAT EENIAV @RLOAID OOUWlE: aB@I6T ?
(a)  BWOdLUD CLoONlWOMo (b)  esenIMAl alquo

(©) 8o alquo (d)  @aogrewMilacs avlaue
(iii) eMBangIM)e BDZa1SIMIo DalEWIWIBN)AM GaQI-2100F aflaMo aB@oe” ?
(a)  cOdoeNIV (b) as0eEICRIdWD0

(c) Al@eela1moo (d) avdsesud

(iv) @oe¢ meldidlemmaldled  mlan (WY B0}  BafWBlaNVA

@NOOTNS) B> -
(a) abc-2 (b) break
(c) 2abc (d) abc2

(v)  flanavoalidEleoom @REDEBeS  (aIGITIWlSElenMGIM Dalec@oudlanam
C++ o1 80) GRSINNOM AWIQ @0 GOEENS)IHN) D .
(a) int (b) float
(c) char (d) wvoid

(vi) caclemilid ‘a’ Wes (100 Mele 2 GREOIMBIME, at=3 oM CIVYOHNT
KRB LS O21QTIM GUoaHo ‘a2’ WIOS )T M1 HEOEBON)D.
(a) 4 (b) 5
(c) 6 (d 7

(vii) anaies meflaildlenmaldiad ag@oem enafles caqugeoaad ?
(a) if (b) switch..case
(¢) do..while (d) if..else
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8.

(viii) Choose the correct full form of LAN :

(a) Line Area Network
(b)  Local Area Network
(c) Logical Area Network
(d) Long Area Network

(ix) Who proposed World Wide Web (WWW) ?
(a) John Von Neumann (b) Vinton Gray Cerf
(c) Tim Berners Lee (d)  Bjarne Stroustrup
(x) Delivering Government services to the citizens with the help of ICT is known as
(a) e-Learning (b) e-Governance
(c) e-Commerce (d) e-Banking
Answer any 8 questions from 2 to 18. Each carries 2 scores. 8x2=16)

Differentiate between assembler and compiler.

What is e-Waste ?

What is meant by debugging ?

Draw the flow-chart symbols for calculation and decision making.

Distinguish syntax errors from logical errors.

Classify the following into character literal and string literal :

(43” “#”’ 665”’ ‘a7)

Write the basic structure of a C++ programme.
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8.

(viii) LAN-603 00@l@0o® al)@em @)alo Gloaaums)@e)d :
(a) Line Area Network
(b)  Local Area Network
(c) Logical Area Network
(d) Long Area Network

(ix)  eaiBw eaaiw ealeni (WWW) alleonimoe 62 10Q@ @y ?
(a) John Von Neumann (b) Vinton Gray Cerf

(c) Tim Berners Lee (d)  Bjarne Stroustrup

(X) ©af)aUlSlOS  ALAOIVWETMINS  alVEMIBH  ALVABHIB  EILAIMEIBUY

af) OB BN @ a)MOl@ea|S)aM).
(@)  en-celamlow) (b)  em-weaaIBeMmadayv
() eD-aB0cavaV (d)  ep-enuosRlowy

2 m)®@3 18 21600388 2103 4SG8 a@o@EsIello 8 af)aNATIM 2OMOHAYL®) M.
2 ¢apod all@o. 8x2=16)

@RAVENOY GHoeeaILI0) af)sBEOM Ali®PIVOG|SIBlENaM).
)6 ED-CAITY ?
Wlleniglowy ag)aMO@3 ag)am ?

HEMENHMSLIM) BIl0)20MenS)BOLNM)e DalCIUABNN EaQo-21083 allaMeoyd
QO

Mladog;  aBOO)BUWD, CRPEHIBHG  aBOO)BUBD  aaVIQl  ag)eElOm QYD ITN®
al)PIG@®aM).

oY m@@ﬂo%s@;«nme)@ oeaooo%é eﬂgo«f& «QGB“ eﬂgoaﬁ af)amlenBam
@ QoGBS :

(43” “#”’ 665”’ ‘a7)

830) C++ ¢(a1002lloag @RSITLOOM ALISM af)9) ).
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

If the value of variables a = 1, then find the value of variable ‘b’ after executing the
C++ expression b = a++;

List the four elements of a looping statement in C++.

Write the syntax of 1 £. . . else statement in C++.

Write any two advantages of a computer network.

List the names of any four communication devices.

Define protocol. Give two examples.

What are the three sections of URL ? Give an example.

List the hardware and software components needed for connecting computer to
Internet.

What is the purpose of search engine ? Give example of a search engine.

Draw the block diagram of a computer and label its parts.

Answer any 8 questions from 19 to 35. Each carries 3 scores. 8 x3=24)
Convert the following decimal numbers of binary :

(a) 16

(b) 25

Briefly explain any three e-Waste disposal methods.

Categorise the following peripheral units into input units and output units :

(Mouse, Scanner, Monitor, Printer, Microphone, LCD Projector)
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9. cacdlomild ‘a’ @es melp | areemeslad, CH af@oloe® b = at+ a@plang
§a1Q CUaHo cQIBIVMIUE ‘b’ WHS M)LILo HEOMBDID.

10.  C+teel 80) elaflov) cQuaeaadland Moel *LIS:eRUd alSldhea SO0 .

1. C+termlif...else cqugopaadlond Q& PLISM af) )@ .

12, &miys8 emQaIdaslang aRO@EILI OME VYEMEBUB af)$)®D .

13. ago@slene moel @ruo@alMln® 9aldhoaMEBSIOS Cald)dbUd alSldhea|SIOTm )b .
14.  ¢@19¢30¢09008 MIBAIA B9 NS DBIAOOEMEIBUB MTID)d.

15, URL-603 )01 @OUWEI1BU aBO@LI0206M ? B0} DBIa006Mo M@

16. a&miysd emdemdiceiss  mITWlaflemm@m  @RAId®  003WHAIWVE,
CaVOANY HAUVA *LISHEBUD alGlHe)a|SIOT).

17. eavBaf ag)Bel6Oal DEZUD 0 af)TMIEM ? B0} DBIAOOEMo MGBH)D .
18. 80} H>MINSTIOg CMIOGH W(Uo Q0] BRGIHAZ BINEIBUY GRSWOBE|SITTN)D:.

19 2)®@3 35 A1o0W)BS ¢21034BSEIG3 ago@B51L1 8 af)aNOTIM 2OMOHA) ).
3 capod aflow. 8 x3=24)
19. 21016 MGHIVIGE9)AM BUdIUD MVoRIDHOS HENIMOIVICLINS 20l af) 9D :

(a) 16
(b) 25

20.  age®®lene man e-n0elmy Mldacdem dlaile:ud MVodHlg @00 allvodld:@les)d.

21, ana1es m@SHIVIGlENIN HalGlan0@d WEMIQGHOS DMl @EMIQ)®E0W)e output
S5 @PEMIQIBHBOW)o MG BN :

(Mouse, Scanner, Monitor, Printer, Microphone, LCD Projector)
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22. Write an alogorithm or draw a flow-chart for inputting three numbers and find their
sum and average. Print the results.

23. Briefly explain any three tokens in C++ with example.

24. Differentiate between unary, binary and ternary operators. Give example for each.

25. Match the following :

(1) int mark; (a) Output statement
(2) cin>>mark; (b) Declaration statement
(3) cout<<mark; (c) Input statement

26. List and briefly explain the fundamental data types in C++.

27. Write any three data type modifiers in C++. Also explain their use.

28. Write the syntax of switch...case statement.

29. Write True of False.
(a) Looping statements are used for decision making.
(b) Multiple conditions can be tested in switch. . .case statement.

(¢) Loop variable is initialised outside the loop body in while loop.

30. Compare while loop and do...while loop in C++.

31. Compare LAN, MAN and WAN.

32. Explain the working of TCP/IP protocol while sending data from one computer to
another over Internet.
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

MAD  TLoAUNBUWB  Mfl®Ale] GRAIWIOS BDo  YOOIUABIW  GHIEMAIOMBS
@RMIENIBI®o GRLOAID Ca[oal10BF ®QI0IEN)D. DOMOBUD (103 621Q)) .

C++ o8 afo@®lel)e MAD  GSISNMMIBUD  2lOEOOIGE  AllaIClen)w.
DBIaOOEMEBUB af)PI®)D>.

@A, eemIndl, as@mal «Rl  82a|c0QO)BRB ~B® GGG  AI@ITH®
al)eIBEIN)MM). B0COIATIM]o HBIAOMEMo MDIHN ).

G2l0)oalS] GalBBM> :

(1) int mark; (a) Output statement
(2) cin>>mark; (b) Declaration statement
(3) cout<<mark; (c) Input statement

CH+teel @rslaunom anogo ®EsBU3 alSld:ea |S)o1 MLodHlg 200 allaidles)s..

C++ el ago®slee MaN AWIQIOeSa| CAWlaNWOBHUB af))®)d. @RAIWOS
DalCINW)o AflUElB@1E9) M.

switch...case cquaeAdlod AI0BIPLISM af) ).

(OAIEWI HD®EYI ) F)®).
(a) ©f0@OMeAS)ENINGIM Lo lot) CALONAMHDUB PalE@IUT BN,

(b) switch...case cqugeadlad aaleidlde AITVOGWB  al@ldHlead
SYlW)o.

(c) while enafl@d enalcmioarlen a OB Eha | caIGIMIWE GRElBH)AM).

C++eelwhile elafdo...while ela]afamlal ®OO®A L0 6alQ)dh.

LAN, MAN, WAN ag)avial @00@a o 61210))d.

sn@domglenes 80y HmuYqdlad  mlan’ aegoavleelss awdq  GERWW)EMIIN3

Slavladl /eag)all choJocsgocsoe;o@aog Liberation Mono (a1018@rmMo aluod]a:@la)d:.
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33.

34.

35.

Briefly explain any three services of Internet.

List and briefly explain any three interactions in e-Governance.

Write any three e-Learning tools with short explanation.

Answer any 2 questions from 36 to 40. Each carries 5 scores. 2x5=10)
36. (a) Compare data and information. 2)
(b) List the various steps of data processing. 3)
37. (a) What are the three types of primary memory devices in computer ? Briefly
explain. 3
(b) Define Operating system in computer. Write any two functions of it. 2)
38. (a) Write the syntax or examples for three looping statements in C++. A3)
(b) Differentiate between entry controlled and exit controlled loops in C++. 2)
39. (a) Define Network topology. 1)
(b) Briefly explain four topologies with block diagram. “)
40. (a) Briefly explain the infrastructure of e-Governance. A3
(b) Write two advantages of e-Governance. 2)
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33.

34.

35.

36.

37.

38.

39.

40.

HMBOMGIOR aBO®EFILN0 MAN CTLAIMEBOBHNOla] MVod:Mlg1000] allaIdlve)b .

gD-EAIIMMAVIREL! aBO@EFILN0 M)A DSHAISLNHDUB alSldhea |SIOT TVodHlglM0w0i
aflaIdlee)d.

aBOOESIEl0 M)A D-GEINMlow) S)BIBHUB 21)0)BS QNQIGIB:)B.

36 2)®@3 40 A160WBS ¢21033MSG8 aBO®BILN0 2 af)INOTIM DTN ODA)®))cd>.

5 capod all@o. 2x5=10)

(@)  AWogW)o afllaIval)e MOO®A e Mal1Q)d.

(b)  awog elpavElouilang aflallw ~eIgemBUd alSldeq|SIOT)w.

(a) ®auygdlesr MAN @O0  (APLOAlG  OAMO]l  OaldOEMEIBUd  ag@®oem  ?

TModlg |2000]] 0l VRl d: @l 06D
(b)  a@muysolead Boajcodlory VIAVe af)IN@ MIBalalee)s. DIOMW RO®EILI)0
Q6NE aNoWaHM)A> Liberation Mono 13 ag) 9y .

(@) C+t eer man enaflo) CIVGOAMNHROS QANDGICLISNERD DBIAOOMEBESO
)9} ).
(b) C+t or1 ag@BEl FOEH®aR R TOEH® enaid8le ®olenss

Q@O0 af) LY.

(@) emMgaIBas ¢SoCa ogedl MBalafles)d.
(b) @MPEY  WOWo  Dalcworlla] MORI  €S0CaoBEHUB  TVodHlg @0

aflaiGles)d.

(@)  -wealemmBailend @RSINOOM TVVGHOIEIRUB MVod:HlgI200] allaIdlHe)d.

(b)  -nealeMMBIVIOAg OME NPMETBUB agf) 9D
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